" FR O ERERIL

— ZE LM TR)EF:
- AP L T AR T - B PP RE A S EEE PR o

[#6]] #FHELE T 4RI AT BB E FEY -

[¢ )L 3 ABehaEe Loz » L AB*>M>2 P 5L

[+#%] PA=PB L

[P ] p
LG ABendE T A s 3 AB M
S /=,2=90° ¥ AM =BM
= AAMP £ ABMP ¥
T A=/2 > AM =BM ~ PM =PM A 1]2 B

.". AAMP = ABMP (SAS) R| PA =PB

= g:—j_ X A,\ﬁﬁ‘ll—'l] HJIL’L’FT:
DESNE E RS S R A e o R S A
[ 0)] FFeRE S HBLE g angh s & 2T e TAM D o
[ 5] PA=PB
[#%])P & AB sk T A%t o

[#p ] A B
T LAPB ek T 2 AB M Bl 21= 22 P
A AAPM 22 ABPM® "“PA=PB  /1=,2+-PM =PM 12
.. AAPM = ABPM (SAS) B|AM =BM - /3= /4
x s34 24=180° . 23=,4=90°=PM L AB
""AM =BM * PM L AB A a4

CPM % T4 AB > TP EEA AB B T A& o

Z. AT LR
- BADET AR T B Tl AR P EFEYE -
(0] FEe T oMt T - BRI &0 F S jede o
[¢ )L 3 /BAC#HT A% PetlLt > PBLAB  PCLAC-

[#3] PB=PC j

(=P ] b L
& AABP #2 AACP ¥ >
"' ZBAP= ZCAP » Z/ABP= ~/ACP=90" - A c
AP = AP

“tr0d AAS ¥ s AABP= AACP ¥ PB = PC

7



B AAE R
(DEE= &2, & L AR L T

AR
[ o]] iFEs iz £ 2R i L oM sy *
[ )] 2AABC® » AB=AC > AM T A /Ao
[ %] BM =CM * AM L BC -

AL

CAM T A /A . /BAM= ~CAM »
& AABM 22 AACM B

" AB = AC -+ /BAM= £CAM > AM = AM
. AABM= AACM (SAS)

F]2 BM =CM > ~AMB= ~AMC

2 ZAMB+ ZAMC=180°

J. ZAMB= ZAMC=90° %#® AM 1 BC

(2)E "= &2, %grmﬂ R j,g)%én_l,g\’d T EL o
(o] ez e ARG 59 AediRYr THATH
[ ] ZAABC 3 &= &35 > AB = AC » BD=CD -
[ +#] AD LBC ¥ £1= .2
(]
% AABD ¥ AACD *
""AB=AC > BD=CD » AD = AD
. AABD= AACD (SSS)
Rls1=22~ £23= 24

X /34+ ,4=180° B
S /3= ,4=90°
% AD | BC

(&= 42)3 "1 B Ap % -
EE SN SR St R
[ )] AABC 52 %"= 425> AB=AC > * CDL AB » BE L AC -

[ %) BE=CD -

% AABE 7 AACD ¥

" /A=/2 /A= /A~ AB=AC
.. AABE = AACD (AAS)

2z BE =CD




(DHEL= £23573 "+ eh? AP FE o
CX) T SR T S R

[= 4] AB=AC ¥ AD =BD - AE =CE A

[ 4] BE=CD

#P )
‘»AB=AC - AD =BD - AE =CE D E
. AD = BD = AE =CE
& ABDC £ ACEB * B c

‘"BD=CE - BC =BC » ZABC = /ACB
.. ABDC = ACEB (SAS)
] BE = CD

[#ol] #FET Az - e T s 4a Fridz 430
[ 4] ABCD 4 T 7w i35 - AC 5 44 48 ¢
[ &% ] AABC = ACDA -
# ]
(1) "ABCD 3 % 7w i#2; . AB//DC » AD//BC -
(2) "AB//DC ../1=,2- D

(3) ""AD//BC ../3=,4- 1\’
(4) % AABC £ ACDA® -
" sl=225 £3=245 AC = AC A2
- AABC= ACDA (ASA » %17 ° c

[#61- ] [y -]
ot AD 2 BC 2 02> 7 v oA A& 4ol 0 ZAPD = 2AQD =90° » PD=QD -
B LN+ LB =2D +£C0 FitdeT o fz o ZPAD = 2DAQ-
A B
] J L
D
c D A Q ©
7o - FlidiEABC-Due @ @ ZAPD= ZAQD=90° (& 4r)
A ¥ 2C $F5%BD (& 4)
. ZA=2Cs 2B =2D AD =AD (% ki#)
S LN+ 2B =2C + 2D .. APAD= AQAD ( rEEE)
¢t /BOD £.AAOB e ADOC £¢F & . ZPAD= /DAQ ($+/& & 4p %)

S ZBOD = A+ 2B =2C + £D
BLPE0iE o HIEET o @ A ARk 0 SR ¢4 PD=QD - RAS



.
H O

FE
TirFE (Fle ACB~C-Dw g - 2

IR I CTRR R N

e o9 o

m)
[#6)= ] . o
[ &) 4% @B » AABC® » AB=AC - BD=CD

A
[ +:] AD L BC
(r ]
/A\ABD £ AACD ¥
AB = AC (e av)
BD=CD (¢ &) B D ¢
AD = AD (2#:i#)
. AABD = AACD(SSS) 4
=22 (HEdpsE)
L1+ 22=180° (- EMEN- T &)
S.21=90"=~2
2z AD L BC
B 11)2 c
CTED
[ &) 4ot B > AABC® » ZB=2C> AD % £BAC 1 2
[ 4] AABD=AACD N
(]
““AD T A /A .. ZBAD= ~CAD -
& AABD £ AACD ¥
" AB = AC » /BAD= ~CAD - AD = AD i .
. AABD= AACD (SAS) i
R
(4 61=]
[c 4] L% ABeds TAK P-Q Al r
[ 4] AAPQ=ABPQ b
(]
& /AAPQ2 ABPQ® - Q
P~ Qi AB ¥ LML o
".PA=PB - QA=QB > * PQ =PQ >
S AAPQ=ABPQ(SSS 2 % 4. 57) B g

10



[y =
[ =] AABC £ ABPQ 981 = &7
[+3%] AQ=CP

A
(]
" AABCE ABPQEELE = 47 /\
.AB=CB > BQ=BP
B Q 3¢
\P/

~ABQ= ~CBP=60"
S AABQ=ACBP(SAS » & 4 %ﬁ" )
CAQ =CP (iftn %)

[#o)e ]

[<s) 4% D5AB -2  DF2x AC*E-» DE=EF » FC//AB -
[#3#] AE =CE

e \ F
""FC//AB ../1=F
& AADE# ACFE # W
" Ll=4F > £2=23(%F %) B £
DE = EF (& )
SCAADEEACFE(ASA > 5)
# AE = CE
ESRD

[ +«])] AB//EF » AD=CF » /B=_E
[#3#] AB =EF

[ ] A °
""AB//EF .. A= F(p4#44p%)> " AD =CF \
.AD +CD=CF +CD » = AC = DF
& AABC# AFED® > c
" ZA=sF> «B=sE(® &)+ AC =DF
S AABCZAFED(AAS 2 % 1 5) E F

# AB = EF
ETED

[ 5] ZABC= DB+ £1= 22
[ +#] BD=AC

(i ) - D
" Z1=2,2> £ABC= «DCB(® 4v)
e M
. AABC=ADCB(ASA 2 %) B &1 21N\

22 BD = AC

11



[y 1]

[¢ )] AB=AC > £1= 2
[ #%]) BD =CE

(2]

[ o1
[ = +] AABC £ AADE % &

% AABC ¥ >

""AB =AC .._ABC= ~ACB

% AEBC £ ADCB ¢ >

" Z1=2,2> ZABC= ZACB > BC =BC
. AEBC=ADCB(ASA 2 % 1 7)

— BD =CE

1

Il

fP»b

N
A

[ +:%] BE =CD

[P ]
" /AABC £ AADE *’S UL
.. AB —AC ) EA AD
~EAB= ~DAC=60"°
. /A\EAB=ADAC(SAS 2 % 1 7)
"EB=CD (# /i %)
[ﬁﬁﬂi .; ]

[ %) ABCDE % & 7 i35 » BP =CQ
[+3%] AP =BQ
(zr ]

[ 61

AABP 2 /ABCQ #
"“ABCDE 3 & 7 i#7;

".AB = BC

ZABP= ZBCQ=

0
(5—2)5><180 08¢

BP =CQ
. AABP=ABCQ(SAS 2 3 1 70)
AP =BQ (¥ /iftn %)

-]

4@ oL, // L, » K#EZLABC=T0 &

(]

#wBEirL, /L, = L; // L,

L, // Ly. . ZEAB+ 21=180" (F RIp & 3 4F)

:4121800—1500:300

Ly // L, . ZBCD =22 (pés a4pE)
= /2=40°

ZABC =21+ 22=30°+40°=170°

12

L1

L2

L1

Ls

L2



EYED
e oL, // L, F2£1=100°> 22=150° » &z 2£3=110 &

(]
®AB 2 L,* D &
'L, // L, S 214+ 24=180° (I} & 3 4F)
= £4=180°—100"=80°
d ABDC # £2= 24+ 25
=80°+180°— ~3
= ~23=110°

[# 61~ ]

[ )i >3 ABCD2 C2 > (F— 84 L> A %EB~Da:
*BELL ~DFLL -

[ +#%] EF = DF + BE

[P ]
w875 ABCD 5 & =+ 5., ~BCD=90°* BC =CD
""BELL ~ DF LL..~ZBEC=90° > ~DFC=90°
"E~C-Fzg£4.. ~BCE+ «BCD+ ~DCF=180"
= /BCE+90° + ~DCF=180°
= #DCF=90°— ~BCE

4 ABEC ¢ ~EBC+ «BCE+ ~£CEB=180° (= &=}p & 4-=180°)

= ~EBC=90°— ~BCE

""BC =CD - /BEC=90°= ~DFC - ~DCF= ~ECB
. /\CEB=/ADFC(AAS 2 % 1+ %)

— BE=CF - EC =DF

— EF =CF + EC = DF + BE

[y ~ ]
[c+)] 2 LiEHD >3, ABCDé#7E8-B> AM L L » CN LL
[ %] AM = BN
[zr]
" AM LL>CNLL..ZAMB=90° > ~BNC=90"
w825 ABCD % & = 35.. AB =BC ; ~ABC=90"
= /NBC=90°— ~ABM

L1

L2

L1

A

n

B

d AABM ¢ ~ABM+ #BMA+ #MAB=180° (= &£4;p & 4-=180")

= ~MAB=90° — ~ZABM

" AB =BC - /NBC= ~MAB ~ ~AMB=90°= ~BNC
= . AAMB=ABNC(AAS 2 & {2 57)

= AM = BN ($ifn%)

13



(514 ]
ZAABCZ BE AL 240N 22N 322
[#2]
TAM 5 ZA &I A%
“"AABC % £ = 425 AM %38 T A BC
— AABM 4 & = 475

3 B3 2IL— AM =24’ —16% = /320 =85
AABCi\iﬁZ%XBZXS\/g:lZS\/g

[y 4]
AABC ¥ » %2 AB=AC =3024 » BC =36 24 » 32 RAABC - "+ chB % 55 9
[i%]
EAM % A& T AR
""AAMBC 5 %= £75° AM %% T 4 BC
= AABM 5 2 & = £7)
d BB RIL= AM =302 —187
= AM =24

AABC 2 & #f = l><36><24=432 (= 2m)

[N

=-xBDx30 = @—4% (" %)

N

[# 6]+ ]
4B 12 AABC #1758 AB,AC % i# » ¥ = 45 ABGF ~ ACDE » $% : BE =CF
[zr]
w895 ABGF ~ w ##45 ACDE 4 & =
. AF = AB -~ /FAB=90°= ~EAC
AC = AE G A E
% AAFC 22 AABE ¢
" AF = AB ~ ~/FAC=90°+ ~BAC= ~BAE
AC = AE
AAFC=AABE(SAS > $4+%) = BE =CF
[ u] £
4o > AABC® > AB =4 BC =3 ACDE & & =35 % :
(1) BD=29 (2) BE=? "
[m ] £ AABCz AEKA=ACHD D
— AB =4=EK =CH
— BC =3= AK = DH c
ABKE ~ ADBH % 2 & = &7
d 7 i B T IT

— BD=+VBH +DH =.(3+4)?+3 =58
— BE = VBK +KE~ = J(3+4)2 +4% = /65

14

F




CLEED!
4o ¢ 5o AB = AC » AD = AE » &% ~ABE= ~ACD

(zr ]
% AABE &2 AACD ¥ > . c
""AB=AC » A=A AE = AD
.4 SAS ¥ v AABE= A ACD
Flpt ZABE= ~ZACD E

[#6]+ =]
4@ > ¢ 5=vrCA L AB » DB1L AB » CA=DB » #%CB = DA

[P ] c D
% ACAB #2 ADBA ¢ >
*"CA=DB > ~CAB= ~DBA=90° > AB=AB -
.4 SAS ¥ s ACAB= ADBA
A B

2  CB = DA

(o=l
4e®l > & 5vrAD =AE » BD=BE > CE- % AB } » £#CD=CE
(]

% AABD £ AABE ¢ -

""AD = AE > BD=BE » AB=AB >

.4 SSS ¥ 4 AABD= A ABE

F]st ~DAB= ~EAB

 2DAC= ~EAC

% AACD £ AACE ¢ -

" AD = AE > «£DAC= ~FAC» AC = AC >

4 SAS ¥ s AACD= AACE
z#® CD=CE -

<z

15



